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l.a) A= ¢ 0 1|,B={0 1 O First compute 4B, then BA. (8%)
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(b)Assumed and B are some 2x2 matrices such that AB-BA= 5 o Find 4'B-B'4". (5%)
2. (a) Using the formula for the inverse in terms of the adjoint, find the inverse of the matrix
cosf | —siné@
A= 0 2 0 [(10%)
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(b) Using Cramer’s rule, find the solution of the system. (10%)
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(the determinant of the matrix associated to the system is 4)
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5. f(Z):((Z+2)3+Z3)4 y %iﬁ?;‘]';é:.

o
&
wy

fﬁj-sinﬁ(z+l)+cos7zz
I -1)(z-2)
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8. It is known that y isa function of x with -5<x<5. If
y(x) and express y(x) in terms of x. (10%)

d(x) _
dx

—x/ y(x) and y(4)= -3, please solve
(3515 -#%2H)



9. Solve the general solution for the following equation: %(i y(x))— 4£};§x—x) = iOe"z" -3y.

(10%)
10. Solve the (i)divergence, (ii)gradience and (iii)Laplacian of the following vector function:

X+ i+ k. (9%)
11. Prove that —%a“ =In(a) - a” through the help of chain rule:

gx—[f(g(x))] - /'(g()g (%) (5%)
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